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And from where do you say this; for Rabi Tavlo queried from etc.

Overview

The X3 asked, how do we know that °37 n¥°p2 is not considered a 7¥°p2 to nullify
a nnx 7. The X3 answered we know if from the query of X?2v " and s'121
response. Moo explained why we could not derive this from a 71wn.

mooin asks:
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And if you will say; why did not the X723 rather derive this from our 73w in

PENNWM TR P19, which states -
- AYYT NYINNA SINYNT ¥919) D391 1 AYPNY XYY 2RIV

‘A balcony which is directly above water, etc.’ it is permitted to draw water up to
the X7urma through a partition above the water and we are not concerned for 2°37 ny*pa?!

NID0IN answers:
= NN 7D PPN2NNN PRT PNXY 13929 9N

And the 5" says that if we would have resolved it from our 77:w%, one may have

assumed -
= 399950 NWNN NINN D HY JIRY MENN INYA 9N 110 NINT

That the same rule applies even by other nxsn» which are not over the water

that a hanging nx°nn is effective and we are not concerned even for 73 ny*pa -
03 DIN9N 1PIY NN TP DYOA YIDNT NTID 5391 351999 579

So therefore the X3 brings the resolution from the query of 872w 29 where 20
explained the reason that it is a leniency which the 2°»>7 were lenient
regarding water, but not under any other circumstances.

Summary
127 was explicit that a "0 7x°nn is only effective over water.

Thinking it over
Why did not '01n just cite the first words of "2 that '2°»2a X5& nann 7190 [Xonn PR'?!

"It is (obviously) preferable to resolve a question from a mwn than from an XMnX.

2 See pM 11"7 "0 (on this TmY) TIE footnote # 4.

3 That mawn merely teaches us that 720 7¥°nn is effective (by o), but perhaps it is effective anywhere else; the case
just happened to be over water.
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